S 2
= 10
Q
._;_
(@R
©
—
°
< 10
©
1
1071
2
(0)]
=
@)
e 1
=)
S
e
0.5

7000 GeV pp NSD
S L O O L Y L B B B
= Charged Particle sl Spectrum(NSD, |n| = 0.2 - 0.4) =
SN . E
B - ]
o " |
o bR _

"
=8

- A -
u N N
- m CMS e -
- --&3-- Herwig 7.1.6 default E
:_ —— | | | | | | | | | | | | | | | | | ,E
L L L L
- H--8--B---m —— SR ——C—
,EEF"D] &-- —

B o _
S _
R L L l L L L L | I L L L l L L L |
0 0.5 1 1.5 2
P, [GeV]

Rivet 3.1.10, 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


